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Quantum is a small computer algebra system which includes new imple-
mentations of our ISSAC 96 [7] and ISSAC 97 [8] algorithms for computing
hypergeometric function representations and Meijer G function representa-
tions, as well as a repertoire of essential computer algebra system algorithms
necessary for solving integral calculus problems.

On Apr 18 2005, as demonstration of the power of our methods, we pub-
lished 100,000+ hypergeometric formulas on our PLANETQUANTUM.COM
web site. We created these formulas using Quantum. The algorithms and
techniques used included our ISSAC 96 and ISSAC 97 algorithms as well
as symbolic linear algebra, multivariate polynomial factorization, multivari-
ate polynomial gcd, partial fraction decomposition, high precision numerical
evaluation, special functions [1], integration, differentiation, integer factoriza-
tion, the LLL algorithm, Simon Plouffe et. al.’s Inverse Symbolic Calculator,
Neil Sloane’s On-Line Encyclopedia of Integer Sequences, and many books
and references including Prudnikov, A. P., Brychkov, Yu. A., Marichev, O.
I., [5].

Since our successful publication of 100,000+ hypergeometric formulas,
we have tasked ourselves with the new challenging goal of online publication
of 100,000+ integrals at the same difficulty level as integrals which can be
found in famous integral tables such as Gradshteyn, I. S. and Ryzhik, I. M.
[2] and Prudnikov, A. P., Brychkov, Yu. A., Marichev, O. I., [3], [4], [5]. Our
attention has focussed back again on the Risch algorithm [6], Meijer G the-
ory, hypergeometric integrals, and most recently, elliptic integrals. Example
integrals of this nature would be:
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